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QUESTION 1

How are I/O timeout and Safety I/O timeout calculated? 

A. An I/O connection will timeout based on the lower of 4x RPI or 100ms. Safety I/O timeout is calculated as 4xRPI. 

B. An I/O connection will timeout based on the lower of 3x RPI or 100ms. Safety I/O timeout is calculated as 3xRPI. 

C. An I/O connection will timeout based on the lower of 4x RPI or 150ms. Safety I/O timeout is calculated as 2xRPI. 

D. An I/O connection will timeout based on the lower of 3x RPI or 150ms. Safety I/O timeout is calculated as 3xRPI. 

Correct Answer: A 

 

QUESTION 2

Refer to the exhibit. 

Which values are correct for AP 2 to allow for efficient roaming? 

A. Channel 6, SSID Sittingduck, BSSID 00:0a:0b:0c:0d:0e 

B. Channel 1, SSID Sittingduck, BSSID 00:01:02:03:04:05 

C. Channel 1, SSID Sittingduck, BSSID 00:0a:0b:0c:0d:0e 

D. Channel 6, SSID Sittingduck, BSSID 00:01:02:03:04:05 

Correct Answer: A 
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QUESTION 3

Your supervisor calls you and tells you that one of the Stratix 5700 switches is not assigning all CIP explicit messages to
the proper QoS queue. The switch was deployed with the ab-global macro and CIP explicit messages were previously
being assigned to the proper QoS queue. You suspect the access-lists associated with the ab-global macro have been
changed. Look at the following access list from the switch configuration: 

access-list 101 permit udp any eq 2222 any dscp 55 access-list 102 permit udp any eq 2222 any dscp 47 access-list
103 permit udp any eq 2222 any dscp 43 access-list 104 permit udp any eq 2222 any access-list 105 permit udp any eq
44818 any access-list 105 permit tcp any eq 44816 any 

What needs to be done to fix the above access list? 

A. Access list 105 should reference udp port 44816 

B. Access lists 101-104 should reference udp port 2212 

C. Access list 105 should reference tcp port 44818 

D. Access list 104 should be a deny access list rather than a permit access list 

Correct Answer: C 

 

 

QUESTION 4

What are two benefits of a star network topology? (Choose two.) 

A. Disruption of the entire network is not required when adding new machines. 

B. Any problem which leaves the network inoperable can be traced to the central hub. 

C. This network type requires less cable as compared to linear bus topology. 

D. The performance of one of the numerous nodes cannot reflect on the performance of other nodes. 

E. The performance of the entire network is directly dependent on the performance of the hub. 

Correct Answer: AB 

 

QUESTION 5

A shutdown in the cookie cutter machine was traced to a broken network cable. What are two reasons that explain why
using DLR is an appropriate choice for network resiliency? (Choose two) 

A. DLR is designed for single network operation at the machine level 

B. Moving to a linear topology will reduce the number of cables and so reduce risk of cable failure 

C. DLR is the only resiliency technology that is supported by CIP Safety 

D. Layer 2 resiliency protocols like REP and RSTP do not have a fast enough convergence time for motion control 
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E. Half of the network traffic goes clockwise on the ring and the other half counter- clockwise, reducing by 50% the
impact of cable failure 

Correct Answer: AD 
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